(e! )y w®=0 2
eaA’ ggoS2Wt  , §
X = Acoswt + —zﬁ - 12+e2x®
2w 8 ']
X(l) WO w
w=w, +e‘w® ¢’
X+wix =-aex’ - be?x’
eaA’ dw’cos2wt . .. & eaA’ ggos2wt ¢ 0
- Aw’coswt- —— +e” X +wigAcoswt+——— g@ - 19+e2x@ =
2/\/0 3 2/\/0 (%] 4]

w2 »w? + 222w +0(e?)
1 4 = Al w? +w?)coswt » - 2e% Aww® coswt
ew?® »ew; +O(e3)

2 A2
FaA Cos2wt - ca

=-aex®- be?x® X = Acoswt+




x AZ
»- aegA2 COSPWE + ACOSWE X0 > E@OSZ\M - 192 be®A’cos’wt
127

Wo

C0S3g =C0s2q cosg - ShZg sing = (2coszq - 1)cosq - 2sin”q cosq
=2c0s’q - cosq - 2cosq +2cos’q =4cos’q - 3cosq

cos3j +3cosq
4

\ cos’q =
cosfa +b) =cosa cosh Fsnasnb,

\ cos(2g +q)+cos(2g - q) = 2cos2q cosq

cos3awt
L coswt cos2wt =
5a’A’  3bA*0 aa’A bA’0O
0 (%] 0 a
WO
coswt

@) _ e? 68bA3_5a2A39_A26233b 5a29
: i 2+

2AWog 4 oW, 5 2w, &4 0 g

@



2

3 +RQCOS3Nt
2 vy 24

x® = D + E cosamt
=E(- 9w? +w?)cosant + Dw? » - 8Ew? coswt + Dw?

a * bO
D=0 E(@— +—x
1602 &322 5

D=0 4

2 2 g
e-adb m-0
W=W(°)+ew‘1)+e2\N‘2)+---:W0+0+ — -z
0 4 6W0 o
% = XO +ex® +e2x@ +...
eA? ggos2w,t 6 e?A’ea bo
= Acoswt + - 1=+ — TCOS3wt

2\N0 g 3 [ 16W0 gaNz g

w®
m/g =mgsing @mglg - q°) Wy 19
2 W2
q-w =--2q° notation @ =0 b==C
w® = a® wy _aw,
w, 8 16



